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Answer1

38.5x14.2

184-59

Write down all the figures on your calculator display.
You must give your answer as a decimal.

(a) Use your calculator to work out

Answer 2

Use a calculator to work out

V20.4

6.2 048

Write down all the figures on your calculator display.
Give your answer as a decimal.
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Answer 3

(b) Write your answer to part (a) correct to 1 significant figure.
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Answer 4

(b) Work out the value of 350°
Give your answer in standard form.
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Answer5

(b) Write your answer to part (a) correct to 1 significant figure.
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Answer 6

tan 60° + 1

Calculate the value of \/ _—
tan 60° — 1

Write down all the figures on your calculator display.
You must give your answer as a decimal.
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Answer?7

(b) Write your answer to part (a) correct to 4 decimal places.
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Answer 8

sin 25° + sin40°
c0s25° — cos40°

Use your calculator to work out \/

(a) Write down all the figures on your calculator display.
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Answer9

Use your calculator to work out Prieiie
42 -237

(a) Write down all the figures on your calculator display.
You must give your answer as a decimal.
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Answer10

1.45°
Use your calculator to work out 389 — /575

Write down all the figures on your calculator display.
You must give your answer as a decimal.
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Answer1l

x=8.5x10°
y=4x10°

Find the value of p.
Give your answer in standard form correct to 2 significant figures.
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Answer 12

w is increased by 10%
d is increased by 5%

Lottie says,
“The value of T will increase because both w and d are increased.”

(b) Lottie is wrong. e e o
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Answer13

(b) Work out 3 4.3 X tan 39°
23.4-6.06

Give your answer correct to 3 significant figures.
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Answer 14
w
"=\z
w=35.6x107
d=14x10"

(a) Work out the value of T.

Give your answer in standard form correct to 3 significant figures.
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Answer15

(a) Find the reciprocal of 2.5
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